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QUESTION 1

A table named STATES has the following columns: STATE_CD, REGION_CD, and STATE_NAME. Which SQL
statement will return the number of states in each region, ordered by number of states? 

A. SELECT state_cd, COUNT(*) FROM states ORDER BY COUNT (*); 

B. SELECT state_cd, COUNT (*) FROM states GROUP BY state_cd ORDER BY state_cd; 

C. SELECT region_cd, COUNT (*) FROM states GROUP BY state_cd ORDER BY COUNT (*); 

D. SELECT region_cd, COUNT(*) FROM states GROUP BY region_cd ORDER BY COUNT (*); 

Correct Answer: D 

 

QUESTION 2

A table named DEPARTMENT contains the following data: 

What will happen? 

A. The statement will fail because a subquery cannot be used in an UPDATE statement. 

B. The statement will fail because the result set produced by the subquery will contain more than one row. 

C. The statement will succeed; the last record retrieved by the subquery will be used to provide a WORKDEPT value for
the update operation. 

D. The statement will succeed; the first record retrieved by the subquery will be used to provide a WORKDEPT value for
the update operation. 

Correct Answer: B 
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QUESTION 3

Which object is used to cache table and index data as it is read from disk? 

A. Database 

B. Buffer pool 

C. Table space 

D. Package cache 

Correct Answer: B 

 

QUESTION 4

Which database object provides an alternative way of describing data that exists in one or more base tables? 

A. Alias 

B. View 

C. Index 

D. Sequence 

Correct Answer: B 

 

 

QUESTION 5

Which statement will prevent concurrent application processes from performing anything other than read-only
operations against a table named TAB1? 

A. LOCK TABLE tab1 IN READ MODE 

B. LOCK TABLE tab1 IN SHARE MODE 

C. LOCK TABLE tab1 IN EXCLUSIVE MODE 

D. LOCK TABLE tab1 IN READ-ONLY MODE 

Correct Answer: B 

 

 

QUESTION 6

Which DB2 object is associated with PREVIOUS VALUE and NEXT VALUE expressions? 

000-610 PDF Dumps | 000-610 Study Guide | 000-610 Exam Questions                                3 / 7

https://www.pass4itsure.com/000-610.html
https://www.pass4itsure.com/000-610.html
https://www.pass4itsure.com/000-610.html


https://www.pass4itsure.com/000-610.html
2021 Latest pass4itsure 000-610 PDF and VCE dumps Download

A. View 

B. Table 

C. Sequence 

D. Identity Column 

Correct Answer: C 

 

 

QUESTION 7

Given an EMPLOYEES table and a SALES table, a user wants to produce a list of all employees and their associated
revenue, even if no revenue exists. Which SQL statement will produce the desired list? 

A. SELECT employees.name, sales.revenue FROM employees INNER JOIN sales ON employees.id = sales.emp_id 

B. SELECT employees.name, sales.revenue FROM employees INNER JOIN sales ON sales.emp_id = employees.id 

C. SELECT employees.name, sales.revenue FROM sales LEFT OUTER JOIN employees ON employees.id =
sales.emp_id 

D. SELECT employees.name, sales.revenue FROM sales RIGHT OUTER JOIN employees ON employees.id =
sales.emp_id 

Correct Answer: D 

 

 

QUESTION 8

Which SQL statement will create a DB2 object that can be used to store numerical data as Canadian currency? 

A. CREATE DISTINCT ALIAS canadian_dollar AS DECIMAL (9,3) WITH COMPARISONS 

B. CREATE DISTINCT TYPE canadian_dollar AS DECIMAL (9,3) WITH COMPARISONS 

C. CREATE DISTINCT PROCEDURE canadian_dollar AS DECIMAL (9,3) WITH COMPARISONS 

D. CREATE DISTINCT FUNCTION canadian_dollar AS DECIMAL (9,3) WITH COMPARISONS 

Correct Answer: B 

 

QUESTION 9

Which statement about foreign keys is true? 

A. A table can have only one foreign key. 

000-610 PDF Dumps | 000-610 Study Guide | 000-610 Exam Questions                                4 / 7

https://www.pass4itsure.com/000-610.html
https://www.pass4itsure.com/000-610.html
https://www.pass4itsure.com/000-610.html


https://www.pass4itsure.com/000-610.html
2021 Latest pass4itsure 000-610 PDF and VCE dumps Download

B. Foreign keys can only be defined when a table is created. 

C. A foreign key can be defined on a column or a set of columns in a table. 

D. Foreign keys are enforced only during the execution of INSERT statements. 

Correct Answer: C 

 

QUESTION 10

Which statement about application-period temporal tables is true? 

A. Consists of explicitly-supplied timestamps and a separate associated history table. 

B. Is based on explicitly-supplied timestamps that define the time periods during which data is valid. 

C. Is useful when one wants to keep both user-based period information and system- based historical information. 

D. Consists of a pair of columns with database-manager maintained values that indicate the period when a row is
current. 

Correct Answer: B 

 

QUESTION 11

Which statement regarding referential integrity constraints is true? 

A. Multiple primary keys can be defined for a table. 

B. A foreign key can reference multiple primary keys. 

C. A primary key can be referenced by only one foreign key. 

D. Primary keys and foreign keys are used to define relationships. 

Correct Answer: D 

 

QUESTION 12

Which statement about a deadlock is true? 

A. The victim will be rolled back. 

B. The victim will read through the lock. 

C. Both victim and holder are rolled back. 

D. The victim must wait until the holder releases the lock. 

Correct Answer: A 
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